Equations Analysis Test #5

Each question below contains the initials of words that are needed to complete it.
Find the missing words for each capital letter.

For example, 36 =l in a Y would be Inches in a Yard.
20=Q(A, V,or M)
10=1LI
7=YofBLforBaM

0=M
2000=PinaT
4=SonaV

76 =T thatLtheBP
2=GofV
3=LKthatLTM

181/2=MEfromthe WT
1=RAInEB
20=CinaP

6=PonaPT
66 = B of the B (in the KJ V)
9=JoftheSC

10=DinaTN (including the A C)
7=DwithSW
30=SoverT

8=DaW|(intheBS)
15=MonaDMC
4+20=BBinaP

9=SinT-T-T
3=SandYOattheOBG
5=TonaC(includingthe Sin theT)

3 =P into which AGwas D
2=SofRinKRB




